

Title

First

Name

# Faculty Details proforma for DU Web-site

Last

Name

Rajendra

**Prasad** 

Photograph

	Name	
Designation	Assistant Professor	
Address	Department of Education, 33 Chhatra Marg,	
	University of Delhi-110007	
Phone No Office	08730909188	
Residence	08730909188	
Mobile	08730909188	
Email	jareduggu@gmail.com	
Web-Page		
Ed adress O street		
Educational Qualific		1
Degree	Institution	Year
Ph.D	Dayalbagh Educational Institute (Deemed	2013
	Universit), Agra	
M.Phil	Guru Ghasidas University (A Central	2009
	University), CG	
M.ED	JRHU, CHITRAKOOT, UP	2007
B.ED	Dr.Bhim Rao Ambedkar University, Agra	2005
M.A	IGNOU	2006-08
Career Profile		
Joined as Assistant	Professor, Department of Education, Tripura Univ	versity (A Central University) from 23
April 2012 to 5th Fe	bruary 2018.	
Joined as Assistant	Professor, Department of Education, University	of Delhi from 6th February 2018 till

# **Administrative Assignments**

- 1.Member Enabling Unit, Department of Education, University of Delhi-110007
- 2.Member special Education Committee , Department of Education, University of Delhi-110007

# Areas of Interest / Specialization

Date CIE, Delhi University, Delhi

Teacher Education , Inclusive Education and Disability Studies, and Educational Measurement and Evaluation

**Subjects Taught** 

1. Quantitative Methods in Educational Research

- 2. Educational Evaluation and Psychometry
- 3. Experimental Research in Education
- 4.The Inclusive school
- 5. Pedagogy of Political science (I)
- 6. Pedagogy of Political science (I & II)

Time table	of the su	hiects tai	ight during	o the ci	urrent semester
TITLE LADIE	OI LITE 30	טוכננט נמנ	igiil uui iii	e uic u	111 CH 1 3 CH 1 C 3 C C I

S.No.	Subject	Days	Time	Classroom
1	Quantitative Methods in Educational Research	03/Week	55 min/period 3*55=165 min	M.ed
2	Educational Evaluation and Psychometr Y	03/week	55 min/period 3*55=165 min	M.ed
3	Experiment al Research in Education	03/week	55 min/period 3*55=165 min	M.ed
4	The Inclusive school	02/week	55 min/period 2*55=110 min	B.ed
5	Pedagogy of Political science-I	03/week	55 min/period 3*55=165 min	B.ed
6	Pedagogy of Political science-II	02/week	55 min/period 2*55=110 min	B.ed
7	Ex-post facto and Experiment al Research	02/week	55 min/period 2*55=110 min	M.phil
8	Tutorial	01/week	55 min/period 1*55=55 min	B.ed
9	Project Mentoring	01/week	55 min/period 1*55=55min	M.ed
10	Dissertation supervision	01/week	55 min/period 1*55=55 min	M.ed

Research Guidance

Two M.ED Dissertations TWO M.ED projects

#### **Publications Profile**

- 1.Goods and Services Tax: A Critical Analysis in Context to Accessibility , Human Rights and Education of Persons with Disabilities , Journal of All India Association for Educational Studies , Vol.29, No..2, pp.63-82 December, 2017
- 2.4th Amendment in University Grants Commission for Appointment of Teachers: A Critical Appraisal University News October, 2016 Vol. 54 ,page- 92-94, 100
- 3.Towards Right to Quality Education: Deliberations in the Context of Allahabad High Court Decision University News November 2015 Vol. 53 Page- 3-8
- 4. Fallacious Premises and Erroneous Conclusions: The Case of UGC's Non-NET Fellowship University News January 2016 Vol. 54 Page- 20-24
- 5.University -Industry Interface: Problem, Paradoxes and Possibilities University News October Year-2015 Vol. 53 Page-9-12

#### Publications in the Last one year

1.Students with Disabilities in Higher Education: A Sociological Analysis Published in Educational Journal of Educational Planning and Administration, April, 2018, NUEPA, New Delhi

### Conference Organization/ Presentations (in the last three years)

National Conference On "Rehabilitation of Persons with Speech and Hearing Disabilities", 28th February, 2017

#### Research Projects (Major Grants/Research Collaboration)

Completed one Major Project entitle "Internet Usage and Study Habits and Academic Achievement of Secondary students of West Tripura funded by ICSSR, New Delhi

#### Awards and Distinctions

#### **Association With Professional Bodies**

- 1. Learning Community, Lucknow
- 1. Indian Association of Teacher Educators (IATE)

#### Other Activities

Organized world Disability Day ,3 December , 2018

# Signature of Faculty Member

• You are also requested to also give your complete resume as a DOC or PDF file to be attached as a link on your faculty page.